FORT LEAVENWORTH creative
Installation Instructions Dlay

pator14 REF: ZM102 - FORT LEAVENWORTH



PARTS required

X 4 (FIREFIGHTERS POLE/NET SIDES)

X 1 (120x90 FLOOR) XZ (SLIDE SIDES)

X 1 (2m Spiral SLIDE) - ‘,ll (\

X2 (LEFT ROOF)

x1 (INCLINED NET)
o o
(4]

X2 (RIGHT ROOF)

x1 (NET RAMP) /\

X4 (L ROOF)

reativ
pg2of 14 REF: ZM102 - FORT LEAVENWORTH ¢ 5(3(1 ye



METAL required

)

e

Gy

009

x1 (Firefighters POLE RING)

00l

x16 (METAL PLATE)

J X 1 (Firefighters Pole)

TIMBERS required

creative
pg 3 of 14 REF: ZM102 - FORT LEAVENWORTH P(G y



FIXINGS required

X8 (M12 x 200 Square Cup HEX bolt)
= X 8 1 (end caps)

w X 4 (M12 x 150 Square Cup HEX bolt) X 1 19 (FM80 ‘Brass screws’)
.-‘ X81 w1z wnioc)

(=

reativ
pg4of 14 REF: ZM102 - FORT LEAVENWORTH ¢ 5(30 ye



Foundation Details

—_—
) i8 B |—

N
N
(@))
o
400
698 -
NN | Eg g Y
[ IO o 0
_ S =12 5 S
X = 1025 o
O 3) o
L A

590

2031

LYEC

00¥

' l

S —
1000

reativ
pg 5o0f14 REF: ZM102 - FORT LEAVENWORTH ¢ aaa _}’e



Surfacing Details

—————— = MINIMUM SPACE
= SURFACE AREA
- 6822 _
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, .
o
S
S
& B
0
©
: o
| : : ©
1500 ?{W 1900 B
: o
| - ~
. A N
©
S
c
B
1000 1000
T
N
S
S
S
,,,,,,,,,,,,,, y y

pg6of14 REF: ZM102 - FORT LEAVENWORTH c"ﬁ(aafye



Installation Instructions

Follow fundation details and using 32 x FM80 ‘Brass Screws’

n Attach the Timbers ZM102a to the Timbers ZM102h/c/d/e

—— \
.
0 O I

o Y

H NOTES:

0 Attach one plate on every side, with staggered
6— heights (4 POST = 16PLATES)

E Attach the FLOOR to the Timbers ZM102b/c/d/e

Using M12 - 4x 150mm square cup bolt / 4x NYLOCS / 4x COVERED END CAPS

arty x1

creative
pg 7 of 14 REF: ZM102 - FORT LEAVENWORTH P(a y



Installation Instructions

Z M 102 h (Following fundation details)

Using M12 - 4x 150mm square cup bolt / 4x NYLOCS / 4x COVERED END CAPS

Attach the Timber ZM102ad to the timbers W0101ae

Using (2x 200mm) M12 - square cup bolt / 2x NYLOCS / 2x Covered end cap

n Attach the Timbers ZM102f to the Timbers ZM102b/c and INSTALL

pg 8of 14 REF: ZM102 - FORT LEAVENWORTH

creative

play



Installation Instructions

E Attach the Timbers ZM102g to the Timbers ZM102b/d

Using M12 - 4x 200mm square cup bolt / 4x NYLOCS / 4x COVERED END CAPS

H Attach the RAMP NET and INCLINED NET to the timbers WO0102f/g

Using 47x NYLOCS / 47x Covered end cap

reativ
pg 9 of 14 REF: ZM102 - FORT LEAVENWORTH ¢ 5(30 ye



Installation Instructions

. Attach the TIMBER W0102j to the TIMBERS W0102d/e

Using (2x 200mm) M12 - square cup bolt / 2x NYLOCS / 2x Covered end cap

n Attach the FIREMAN’S POLE to the Timber W0102j

Using 5 x FM80 ‘Brass Screws’

creative
pg 10 of 14 REF: ZM102 - FORT LEAVENWORTH P(G y



Installation Instructions

timbers WO0102¢c/e

Using SLIDE FITTINGS and 6

n Attach the SLIDE to the FLOOR and the SLIDE PLAYTEC to the

X FM80 ‘Brass Screws’

m Attach the 120 PLAYTEC SIDE to the Timber W0102j

Using 5 x FM80 ‘Brass Screws’

creative

pg 11 of 14 REF: ZM102 - FORT LEAVENWORTH P(G.Y



Installation Instructions

m Attach the HALF ROUNDS zm1o2-r2 to the timbers W0102c/e

Using SLIDE FITTINGS and 6 x FM80 ‘Brass Screws’

Wﬂ

A
M

7

creative
pg 12 of 14 REF: ZM102 - FORT LEAVENWORTH P( a y



Installation Instructions

m Attach the HALF ROUND zm102-r1 to the TIMBER ZM101aa/ab

Using 52x FM80 ‘Brass screws’

244

creative
pg 13 of 14 REF: ZM102 - FORT LEAVENWORTH P( a y



Additional Dimensions

6930

3438

3841

3007

creative
pg 14 of 14 REF: ZM102 - FORT LEAVENWORTH P(G y



